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optim(par, fn, gr = NULL,
method = c("Nelder-Mead", "BFGS", "CG", "L-BFGS-B", "SANN"),
lower = -Inf, upper = Inf,
control = 1list(), hessian = FALSE, ...)
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constrOptim(theta, f, grad, ui, ci, mu = 1e-04, control = list(),
method = if(is.null(grad)) "Nelder-Mead" else "BFGS",
outer.iterations = 100, outer.eps = 1le-05, ...)
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optimize(f = , interval = , lower = min(interval),
upper = max(interval), maximum = FALSE,
tol = .Machine$double.eps™0.25, ...)

optimise(f = , interval = , lower = min(interval),

upper = max(interval), maximum = FALSE,
tol = .Machine$double.eps~0.25, ...)
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uniroot(f, interval, lower = min(interval), upper = max(interval),
tol = .Machine$double.eps~0.25, maxiter = 1000, ...)
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polyroot(z)
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D(expr, name)
deriv(expr, namevec, function.arg, tag = ".expr", hessian = FALSE)
deriv3(expr, namevec, function.arg, tag = ".expr", hessian = TRUE)




